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LSE-5 : PHYSIOLOGY 
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Maximum Marks : 50 

Note : Use separate answer sheets for Part-I and Part-II. Be 

brief and precise in your answers. Draw neat and labelled 

diagrams, wherever necessary. 

PART- I 
ANIMAL PHYSIOLOGY 

Note : 	Question No. 1 is compulsory. Attempt any four 

questions from question No. 2 to 6. 

1. 	(a) 	Fill in the blanks : 	 2 

(i) element is the component 

of haem group in haemoglobin. 

(ii) RBC membrane is permeable to C1--  

and HCO3  ions because it contains 

anion carrier protein molecule called 

(iii) Fibrinogen is essential in the process 

of blood 

(iv) Antidiuretic hormone regulates the 

excretory function by increasing 

reabsorption of 
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(b) Write one word answer for the following : 	1 

(i) The category of animals which tolerate 

only a narrow osmotic range. 

(ii) The name of the cell membrane 

surrounding the muscle fibre. 

	

(c) Choose the correct option from the words 	2 

given in parentheses. 

(i) Panting in response to heat stress 

requires (more/less) muscular effect. 

(ii) An ovarian follicle differentiates into 

corpus luteum (before/after) 

expulsion of egg. 

(iii) Action potential occurs only at the 

nodes of Ranvier in (unmyelinated/ 

myelinated) axons. 

(iv) Peptide hormones are (soluble/ 

insoluble) in lipids. 

2. 	(a) Draw a labelled diagram depicting the 	2 

exchange of respiratory gases in lung and 

tissue cell. 

	

(b) Give the name of the respiratory system that 	3 
has been evolved by insects for transporting 

gases. What are the two ways by which 

movement of air occurs in the respiratory 

system of insects ? 
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3. (a) Diagrammatically show the synthesis of 21/2 

urea (H2N.CO.Nf-12) from one molecule of 

CO2  and two molecules of NH3. 

(b) Explain the regulation of kidney functions 21/2 

by renin - angiotensin system. 

4. (a) Draw a labelled diagram showing the 
	3 

internal structure of a cilium in cross section 

and briefly explain the mechanism of its 

movement. 

(b) 	Explain briefly the process of initiation of 	2 

muscle contraction. 

5. Give the basic structure of the estrogen and 	5 

progesterone hormones. Write their functions. 

6. What are Pheromones and what functions do they 5 

perform ? 

O R 

Briefly describe the excitation mechanism of 	5 

mammalian heart. 
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Question No. 7 is compulsory. Attempt any four 

questions from question No. 8 - 12. Draw diagrams 

wherever necessary. 

PART-II 
7. 	Fill in the blanks (Attempt any five parts) 	1x5=5 

(a) Plants which flower irrespective of day 

length are called 	 plants. 

(b) During photosynthesis 	 is the 

source of 02  evolved. 

(c) 	 pigment exists in two forms red 

light absorbing and far red absorbing. 

(d) Germination of seed on parent plant is called 

(e) can he used for ripening of 

fruits. 

is the enzyme converting N2  to 

NH3. 

8. 	Write notes on any two of the following : 	21/2x2=5 

(a) Active transport 

(b) 7' scheme 

(f) 
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(c) Emerson effect 
(d) Circadian rhythms 

9. 	Explain the following terms. Attempt any five : 1x5=5 

(a) phytochrome 
(b) action spectrum 
(c) apical dominance 
(d) osmosis 
(e) Abscission 
(f) Vernalisation 

10. What function does phloem perform ? Correlate 	5 
the structure of phloem with function. 

11. What are the functions of essential elements ? 	5 
Mention the role and deficiency symptom of 
nitrogen. 

12. Name the plant hormones and discuss the 	5 

practical applications of any two of them. 
OR 

Differentiate between any two of the following : 
(a) PS I and PS II 	 21/2x2=5 

(b) C3  and C4  plants 
(c) Oxidative phosphorylation and photo 

phosphorylation. 
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